PDF.js viewer : Page 3 of 4
R
= —Ci =
2020-08-18 13:12 PEE
"EUHER | ‘
EUBRREZOR / IEEOER

- ¥+ 3 =5
ROT ~2OMOAD S 6, BWIHEX » _q@%%ﬁvaﬁun

280 B EREA

F.ox==2 y=1 4. x=2 y=-1 9 x2=8 y=1 I x=-2 y=-1
) }
CEF G oninld B Uy e g ¢ v o dn A L0 B AR S RD ) S u 60

.
SLELLE

KON N E NS TRE XV,
M { Al
a2+ By =4

{ x=8, p=~3 )

Bor 2 oam Bend

PR EIN S HN B

cin {’ + iy = 5D

¥ Wae om %
Do 8y o &

~2x +

0T v LHRALT,

Zy 3 X L =3



PDEF.js viewer Page 1 of 3

2 FxX8

2020-08-18 13:15 SEH

FUHER ¥ g

SBEERZThoMESE £ KAE ARSI
ZE HWEDPKRHE

i

WO IR e BT S X w
By + B2y =14 4x - 53}
{1)
(

B+ 4y = |1

{ =1, y=2 ") =1 p=1 )

(I fov+ 9y =00 eI fo = Hy o e
ii.i;r oy = 1102 oy =fp=- 3~
din 2 {Ox + Sy = v 5 200 - 1oy G
P B 4y 1 x4 ‘}‘Z('}x 2ye - 12
T 7 ie
% i v o=
A TEALY Gy P EAALT
Bl Bw=19 4 - Ax1=1
2 1 4x
2 . x =
3x - 2v=20 3x—Gy=2
{3} ) {4}
4 — 3y =6 x4+ y=2
-2 3 1
{ -« 5 ¥ )
I3 g& S oel=ln e
5 B g~ Gy = 20}
Py -2 2 L B { =
: + g +~+{2
L= d Ga~ Dy = 1bh ’
N e B 19 i B - 4
X ] hx _.A_:}:Cmi ;3 &
e R
oA
v 12y = 2 {0
b
o
3
O,_
%



PDF.js viewer Page 2 of 3

5 FXB

== ===
Sl e

_ it I

Sx w2y =7 fx by =
OR , @ |27
Y+ Hhy =26 dx — 4y = 12

( x=8 y=4 ) (xm S

2
D 14;}; AR ' B {f%r oy e i}

Joo By o= 1%

L y=-2)

x 3 Iy v 1A di 2 32 2%
R RIS RATE TURE Y

tly - - 22

v =4 Z{EANLTC, Ty - 2RICALT,
hr—2 x4 =7 Bv v (= 2y 7
BT o b 4
" L8

9



PDF .js viewer Page 3 of 3
3 XA
2020-08-18 13:15

CEUHER -
REERZTHSIEE / AAE

KOHUITEREOGE TSR

x=—y+5

e WBeEEEA

ll:}

x -+ Gy == 17

€ =2, y=3

s{ v+ by 17 2
Rl &
-3 y o v = 1

yo12
¥ {

AT D Ry = 2

33f{y==2x4+7
i [anid
Eih o=2, 3=3
o G Qg b T e g
F——
PARLIENTL 2
{~dx+ 708
8x = i



PDF.js viewer Page 1 of 4

4% B

2020-08-18 13:16 CaL]
/ EURER
B2 CPHE - MEERTETSER

a0 SBOPREA

KOS EMEI BTV,
({3 —y=8 @) [5x -2y =4
5@+ y=6x-2 C13@e-p=9
€8 x=2 r=—2 €% x=2 y=3 .

i3

Breg=§ D

-0

3 - 8y - 1
.

=l

Y v 8

r

LR F ALy =4 DIBATL Ly =8

-

KOEUFFEWE X,
() [Sw+2y=26 @) [x-p=3

{012~ 0.3y=0.5 ) 0.7x~ 0.3y =05

SN ST

2FE s LT o
Plovyr -8y

154+ 9}7'3‘ 2'}"" g S5 T 3:«; 3
Hy 11 dy= 10
put ] LA e

it O S—
Ty AR gees 2T
&wiwt'. Wl Tl N e ws




PDF.js viewer

Hh TX 8

2020-08-18 13:18 £88

BUHER _
MO SRR IMAEBUEURER

KOBEHTAEWER T 0,

ty=5 x—2v=13
mi1 g {1 1
":-*—.‘t,'—ji—wi;i-- pl A e

{ x=4, =1 )}

U T+ v 5 ) eI { D
e |1, o
| 3% ; R
fix 3 2 12
v -y = 102 {1
[y < 3
+ v B
\} e 3}’ ‘}f)‘t”
dy = 4

Jeendiy
"
. 6
1her 2
e [$]
v e 14
Gy - 23
=
4

Page 4 of 4



